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Warm up: :=M7t+b
Given the linear equationy =-2x + 5,
a)identify the slope and y-intercept
b = 5 m = —2
_ =2 nrise down 2,

| vun  rightl
b) graph

=-2x+5, 4

qo =]

no =

no

AR I NES

Unit 6 Page 1



ueD2

Equation of a Line in Standard Form

The form of a linear equation that we have focused
on so far is the slope y-intercept form:

H:mx+b

Another form of a linear equation that is used is
called the Standard Form. Standard form of a linear

equation is: A?C +Blﬂ + O =0

- A B,Care Q ” m_-i@egs
(not :H:agb'ons or dgcml S )

- A& Bare not t_>9_t_h equalto _zZzero

- The coefficient on the leading term (First term)
is_DoSiHive,
- Right side of the equation equals Z&€ro
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Example 1: Which equations are in standard form?
a) 3x-4y-3=0 b)y=2x—-3 ¢)2y+5x-7=0

A3B-4C’.--3%Ho/ N o/
: is IS 5% 424=T=0
yes- 5lo‘>e/5~ifﬂ.ﬁrm ,;x rd Jorm
v T
d)0=)3x-y+1 e)x-2=0 f) ,V+E=0
“0/« A= ‘3 ?C‘—-l No! Fv&"ion
- es '
3"6—54’\ =0 verhcal ne x=2 Mu|-hp‘7

bq‘?-
g -y+5=0 —H-
1 No./ is $ r\darl

" horizontal lme

_S:EJ_ --35
—lj P '.'-‘5 M—

Example 2: Express each equation in y=mx+b form.
State the slope and y-intercept: o A0 2%k

a)@+6y' 0 b) 2x-2y-6=0
490+(p3+?»"(¢ =043 —2y =—2x+b
oy =~

2y 2a+t
o520 -2

g

o 26%

3: I%T3 \3576_3
-2 o -

m="% ,b= % mel b="3

—
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Example 3:
Express each equation in Standard form:

a) y=3x+2
fj-—lj = 3%“3‘?&
o = 3')(-5-\-2
3A-y+ =0

b) y’=\)-4x+ 6/
- L\'x——j +b =0
Hy+y =6 =0

N5 -
c) yi—x—l

2
/ L;ﬂ[;(i;%byz'

e\t

5 LA
2%y ~1=0 4

5)@~25 -a=0
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Example 4: The Tent-All Company rents tents to
campers and charges according to the equation,
10d £ C# 50 = 0} where C is the cost in dollars to
rent Which depends on d, the number of days
rented.

a) Express the equation in slope y-intercept form

—C=-lod-50 ~—
C = 10d+50

b) Identify the fixed and the variable costs.
Fixed Cost is?5 8
Variable Cost is tlD

Cost
>

140
e
120 - = ’//

100 A

c) Graph the relation. // (
80

//

d) What is the rental ~ *| .~ |
cost if a tentis 40

rented for 7 days? !

|

C=p+s o
C;-\O'\'@

=10 e T days .
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